BEEETE

FEMBDIEFRANRE

SHMIEE

e £ERE

4 EREAEMRLIERE



FEME (BERNRR)

% EREREBRIERE

[#=2 GEERR)

& HE ®% 2E
1E: 6,837,916
THEAEEH
12 6,837,916
EEAE
1E: 4, 405, 299
EERAE BER—J>5 (1) 0.80m. BER—US5(2) 2.70m. BEER—Y 25 (3) 5.50m. BEER—1) 25 @) 12.98m.
s 4,403,299 B EAR—1) >4 (5) 9.10m. BELESAEREE (1) 0.508, EEMERE ) 0.508. BER—U >4 (1) 0.80m,
BEEAR—1 25 (2) 2.70m, BEER—Y 25 3) 5.50m. BER—Y Y @) 14.30m, BEAR—1 >4 (5) 10.70m,
fgEAR—1) 245 (6) 2.00m, BEER—1Y > (7) 3.00m, REEFKER (1) 14.00[E, REZEHER(2) 7.00[@E.,
FAERER Q) 6.00E., EhDDi OGN BELEET) 7008, #EHER 1.00xX, HFHBR 1. 00X,
MESERE (EERZE) 1.00xX. 2FARRROER (EEZE) 1.00xX. £HARH 1.00=K
EREE EXthBERT I N—XEEE 1.00X
1E: 2,000
EERE
12 2,432, 617
[BEHEES EERIR 100X, AEER 1.00X. MBEHNE(EL) 1.00km. BE (BER—J4) 1.00s.
1E: 2,432, 617 HHER R— 1) >y <o 0%) 1,00, H4EM 1. 00K, K& 1.00%, HIEEE 1.00=%




FE M (FERE R

% EREREBRIERE

(=3 (GEREEH) |

A5 e ]
EREREE
1= 4,405, 299
MEREE FERAE
1= 2,432,617
HEE
1= 4,732,084
—RRAEEHBE
1= 11,570, 000
REXBE
1= 11,570, 000
FEILEME
1= 11,570, 000




